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MATLAB CODE

% Define time range

t=0:0.0001:pi;

% Define d

d=0.4;

% Define F

f = exp(-t) . *(sin()+sin(3*t)+sin(6*t)+sin(40*t));

% Define h. Note that its area should be one.

% To achieve this, 1 divide by its length.

norm=sum(t>=0 & t<=d);

hd = (t>=0 & t<=d)./norm+(t>d).*0;

ffiltered = conv(f,hd);

% The convolved signhal has support longer than the support of F.
% 1 choose a window corresponding to the locations where the filter
% support is contained inside the support of f

len=length(t);

plot(t,ffiltered(norm:len+norm-1),t,T)

title("signal f(t) and filtered signal f \asth h(t); d=0.4%);
axis([O0 pi -0.5 2.5]);xlabel("t");

legend("signal f(t)","filtered signal f\asth h(t)")
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